W -

(=

NAJF 5

BRARTT 5

LA

T4

W RA BT I i X

A1 E I 48 5256 18 00

L EA

704311473@gq. com

. WPEEEE R 2012 OEE TR

R 7K



WE: 141, BHTIEW watchdog , EHIERAZERFW
TREIT. YHMAHECE, A RFUATELERE,;
Kigw. B, BH . RNTE.

YR & FJH FPGA = CPLD By 4 K B X151k,
MUY THEFITAN— M T ANEI RS, BET
o FEKRKEREBHR; TRERAZERE M EEELHW
BFES. WEFLBRINMERRSBFEAER S TIRE
7, REAENHENEZRS, FREMNAEEZRKEEFR,
Flb, FITAEZRRALE,

B #RXRER, RIAUARET BT AR, Eik
WE TN EEM, % VIDL W& F R B IRF, BT
AL ot kR A RN, B, ROEFRELIEFL
BETHLZHE, REXKNAMFAFIMREUNFH

1153,

% Tk

1. B RANEI T E R BENEHRES, 2T RSH#E, B
Bk A EEE,

2. WNEFIHRRSHIZ T RER, 275 %1+ FSM R
Ao
3. RIERAHBLE, /5 VIDL KA,



S

CHARBGE, BB TR
oI

S 5 5T A 2R AS ML AR 2 3, AT FSM R A AL
F i AH RS VIDL KA.

FBE. BHRE, BTEMGE, Bk TR

S I 5 4 AR

E319:5. )

Covem ="M LIS

T E
Cournt=>0
SWS RST=I

L ovem T4+
SHS RST=0

LI covm == LIMI2)
Count=0

CWIET_ flag[0]=
WIIT _flag[2])
NEM

ot ==L

R&: EHRFAMEFRAS T, FAAEX+EE&H CPLD =
FPGA BB BT (R & [Tk, B LB R RN E (]
FgenFER, XAUTELTRANEIHE A, 8RB K
e, fET ARNTEE, RETIAELZBEHFNHE
BFEARZ, FETUANARNAS Lo, BRUFHFER
REMERE S, ERIE, RITKB T &I =506k
BoR, RBAMBERFOT EE, TTEHTEARKTE



L =

M BmERFRARNEEREF, KMNAT ZREFTE
FRE FRBRERF IR 189 E R,

P 5K — S2 I (A

—— Company:

— Engineer:

—— Create Date: 09:05:08 06/14/2014
— Design Name:

—— Module Name: bbc — Behavioral

— Project Name:

— Target Devices:

—— Tool versions:

— Description:

—— Dependencies:

—— Revision:

— Revision 0.01 — File Created

— Additional Comments:




library IEEE;
use IEEE.STD LOGIC 1164. ALL;
use IEEE.STD LOGIC ARITH. ALL;

—— Uncomment the following library declaration if using
—— arithmetic functions with Signed or Unsigned values

—use [EEE. NUMERIC_STD. ALL;

—— Uncomment the following library declaration if
instantiating

—— any Xilinx primitives in this code.

——library UNISIM;

——use UNISIM. VComponents. all;

entity bbc is
Port ( clk : in STD LOGIC;
fed : in STD LOGIC;
ed : in STD LOGIC;
reset : out STD_LOGIC);
end bbc;



architecture Behavioral of bbc is
type state type is (A ,B ,C ,D,E);
signal y :state type;
begin
process (fed ,clk ,ed)
variable count :integer;
variable start :STD LOGIC;
begin
start:='0";
count:=0;
if (count=0 and start='0") then y<=D;
elsif(clk'event and clk='1") then
case y 1s
when D => y<=E;
when E => if count<20 then count:=count+1l ;
else y <= A;
count: =0;
end if;
when A => if count<30 then count:=count+l;
else y<=B; count:=0;
end if;
when B => if ed='1" then y<=B; end if ;



if ed='0" then y<=C; end if;
when C => if((fed'event and fed='1') or ed='1"') then

y<=B;
elsif count<50 then count:=count+l ;
else y <= D;
end if;
end case;

if(y=A or y=B or y=C) then start:='1l";

end if;

end if;

end process;

reset <='1'" when (y=A or y=B or y=C) else '0';

end Behavioral;
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